Geometry Honors Section 4.6 SLOPE! Homework

1. Find the slope between: (-3, 2) and (4, 6) 2. Find x when the slope between the two
coordinates (5,-3) and (x,7) ism = Y2
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3. a. What is the slope of each line graphed below? 4. Determine 2 points that will yield a positive
b. What is the equation of each line graphed below? slope and 2 other points that will yield a

negative slope. Graph the two lines.
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4. Write the equation of a line parallel to 3x — 6y = 18 and through (6, -4).
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5. Write the equation of a line through (8.6, -4.2) and (-3.7, and 4.23).
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6. Write the equation of a line perpendicular to Yy = 3 X+9 and through the midpoint of a segment with

endpoints (8, 4) and (15, -1). 2 3
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7. Find the equation of the line given in the table:
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8. Are (-6,5), (1,7) and (15, 10) collinear?
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9. Triangle BAT has vertices located at B (-2, 7), A (3, 3) and T (0, -4). *
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c. Find the equation of the median from T. i
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d. Find the equation of the altitude from B.
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e. Find the equation of the altitude from T.
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f.  Find the equation of the line through the midpofnts of BA and AT .
—_— 5 —
widpt BA 1 (-5,5) = %LE; =2 (%)
midpt AT (15,=5)  ®7 J J

g. Find the equation of the line parallel to BA and through T.
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